National 5 Homework : 1 year course
Surds, Indices & Scientific Notation

gé)i%lfy' (b) V2x2x5  (¢)5V75 (d) v3+4412 427
2. Multiply out the brackets:
(1+ 2\/§X2 + \/5)
3. Rationalise the denominator and simplify where possible:
@ ® © %
4. Simplify and give each answer with a positive index:
(@) 3m” x 2m? (b) 5x° x 2x°* ©) 120;: (d) a1;>l<0a9
@ (xf 0 (o} @5y <3y 2
5. Evaluate the following:
(@) 64% (b) 8§ (c) 16771 (d) x®xx"xx™*
6. Write these numbers out in full:
(a) 5.26x10° (b) 4x10* (c) 2.24x107°

7. Write these numbers in scientific notation:

(a) 65700000000  (b) 0.00000456



